








There are nine persons B, C, D, E, F, G, H, J 

and K are placed one above the another, but 

not necessarily in the same order. Four 

persons are placed between person E and 

person C and one of them are placed either at 

top or at bottom. Only one person is placed 

between C and F, which placed below the C. 

Three person are placed between G and H. H 

is placed neither just above nor just below C. 

Only one person is placed between H and K. 

Not more than two person are placed below 

the K. Only one person is placed between D 

B, which placed above J. E and K are not 

placed adjacent to each other. Either H or G 

placed at bottom. 

नौ व्यक्ति B, C, D, E, F, G, H, J और K एक के

ऊपर एक रखे गए हैं, लेक्तकन जरूरी नहीं क्तक इसी क्रम में 

हों। व्यक्ति E और व्यक्ति C के बीच चार व्यक्ति रखे गए 

हैं और उनमें से एक या तो ऊपर या नीचे रखे जाते हैं। C 

और F के बीच केवल एक व्यक्ति रखा गया ह,ै जो C के 

नीचे रखा गया ह।ै G और H के बीच तीन व्यक्ति रखे गए 

हैं। H को न तो C के ठीक ऊपर और न ही ठीक नीचे 

रखा गया ह।ै केवल एक व्यक्ति को H और K के बीच 

रखा गया ह।ै दो से अक्तिक नहीं व्यक्तियों को K के नीचे

रखा गया ह।ै D B के मध्य केवल एक व्यक्ति रखा गया 

ह,ै जो J के ऊपर रखा गया ह।ै E और K एक दसूरे के 

आसन्न नहीं रखे गए हैं। या तो H या G को सबसे नीचे 

रखा गया ह।ै



There are nine persons B, C, D, E, F, G, H, J 

and K are placed one above the another, but 

not necessarily in the same order. Four 

persons are placed between person E and 

person C and one of them are placed either at 

top or at bottom. Only one person is placed 

between C and F, which placed below the C. 

Three person are placed between G and H. H 

is placed neither just above nor just below C. 

Only one person is placed between H and K. 

Not more than two person are placed below 

the K. Only one person is placed between D 

B, which placed above J. E and K are not 

placed adjacent to each other. Either H or G 

placed at bottom. 



Directions (1-5): Study the following sequence and answer the given 

questions. 

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U & 31 

Which of the following element is sixth to the left of the fourteenth 

from the left end of the given arrangement? 

क्तनम्नक्तलक्तखत में स ेकौन सा तत्व दी गई व्यवस्था के बाए ंछोर से चौदहवें के बाए ंसे छठे 

स्थान पर ह?ै 

(a) 6 (b) % (c) $ (d) M (e) None of these



Directions (1-5): Study the following sequence and answer the given 

questions. 

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U & 31 

If all the symbols are dropped from the series, which element will be 

twelfth from the right end? 

यक्तद श्रंखला से सभी क्तचन्हों को हटा क्तदया जाए, तो कौन सा तत्व दायें छोर से बारहवें

स्थान पर होगा? 

(a) 9 (b) Q (c) R (d) Y (e) None of these



Directions (1-5): Study the following sequence and answer the given 

questions. 

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U & 31 

How many such numbers are there in the given series which are immediately 

preceded by a symbol and followed by a letter? 

दी गई श्ररंखला में ऐसी क्तकतनी संख्याएं हैं क्तजनके ठीक पहले एक ्रततीक और बाद में एक अ्षरर ह?ै

(a) None (b) One (c) Two (d) Three (e) Four



Directions (1-5): Study the following sequence and answer the given 

questions. 

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U & 31

Find the odd one out? / क्तवषम चनुें?

(a) N64 (b) D86 (c) Y%8 (d) R27 (e) 8DN



Directions (1-5): Study the following sequence and answer the given 

questions. 

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B M U & 31

How many such letters are there in the given series which are immediately 

preceded by number and immediately followed by a symbol? 

दी गई श्ररंखला में ऐसे क्तकतने अ्षरर हैं क्तजनके ठीक पहले संख्या और ठीक बाद में एक ्रततीक ह?ै

(a) One (b) Two (c) Three (d) More than three (e) None of 

these



(a) If only conclusion I follows. 

(b) If only conclusion II follows. 

(c) If either conclusion I or II follows. 

(d) If neither conclusion I nor II follows. 

(e) If both conclusions I and II follow.



Statements: 
A ≥ B ≥ C = D > E ≤ F < G

Conclusions: 
I. E < B 
II. G > E



Statements :
C > A ≥ T , S < E = T

Conclusions :
A > E 
C > S



Statements : 
P ≤ R < T = U ; Q ≥ T ≤ S ≥ V 

Conclusions: 
I. Q > P 
II. V < R



Statements: 
L > M = O ≥ P ; N ≤ M ≥ S ≥ T

Conclusions: 
I. T ≤ P 
II. N < L



Statement :
G ≤ L ≥ O ≥ W ≥ I < N

Conclusions :
O > G
W < N



In a Certain code SISTER is written as 40 ,than find the code for 

BROTHER ?

एक निनित कोड में SISTER का कोड 40 निखा गया है तो BROTHER का कोड

क्या होगा ?

(1) 34

(2) 40 

(3) 50

(4) 49



In a Certain code MASTER is written as 21 ,than find the code for 

COMPUTER ?

एक निनित कोड में MASTER का कोड 21 निखा गया है तो COMPUTER का

कोड क्या होगा ?

(1) 22

(2) 24 

(3) 26

(4) 28



If it is possible to make only one meaningful word with the 2nd ,4th and 6th 

letters of the word ‘UNILATERAL’ which would be the second letter of the 

word from the right end? If more than one such word can be formed give ‘Y’ 

as the answer. If no such word can be formed, give ‘Z’ as your answer. 

यक्तद शब्द 'UNILATERAL' के दसूरे, चौथे और छठे अ्षररों से केवल एक अथथपरू्थ शब्द 

बनाना संभव ह,ै तो दायें छोर से शब्द का दसूरा अ्षरर कौन सा होगा? यक्तद ऐसे एक से अक्तिक 

शब्द बन सकते हैं तो उत्तर 'Y' दें। यक्तद ऐसा कोई शब्द नहीं बनाया जा सकता ह,ै तो अपना उत्तर 

'Z' दें।

(a) Y (b) N (c) L (d) T (e) Z



‘Commit also make policy’ is coded as ‘muu yoo laa gua’, 

‘Care craze anger mobile’ is coded as ‘kaa hoe jee hoo’, 

‘allow make course prize’ is coded as ‘gua nee bon sao’, 

‘craze manner also artist’ is coded as ‘the kaa guu laa’.

The code ‘yoo’ is stand for? / कूट ‘yoo' ककसके लिए है?
01. commit 02. also 03. make 04. policy 05. None of these



Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.

कथन: 

कुछ बॉल गार्थन हैं. 

सभी गार्थन टे्रर् हैं. 

केवल कुछ टे्रर् पंप हैं। 

क्तनष्कषथ: 

कुछ बॉल पंप हैं. 

कुछ गार्थन पंप हो सकते हैं.



Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.



Statements:

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 

कथन: 

कोई माकेट होम नहीं ह।ै 

केवल कुछ होम रूम हैं. 

केवल कुछ रूम वेंस हैं.

क्तनष्कषथ: 

कुछ होम वेंस हैं. 

कुछ माकेट कभी रूम नहीं हो 

सकते.



Statements:

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 



Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee.

कथन: 

कोई पाटी गैदररंग नहीं हो रही ह.ै 

सभी समरी गैदररंग हैं। 

केवल कुछ गैदररंग कमटेी हैं. 

क्तनष्कषथ: 

कुछ कमटेी समरी हो सकती ह।ै 

कुछ पाटी कमटेी हो सकती ह.ै



Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee.



Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be 

Dark. 

कथन: 

सभी चॉकलटे टॉफी हैं. 

कोई टॉफी मक्तफन नहीं ह।ै

केवल कुछ मक्तफन र्ाकथ हैं। 

क्तनष्कषथ: 

कोई चॉकलटे मक्तफन नहीं ह।ै 

कुछ टॉफी कभी र्ाकथ  नहीं हो 

सकते.



Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be 

Dark. 



In the word ‘PRODUCE’, how many pairs of the letters have the same 

number of letters between them in the given word as they have in the 

English alphabet series? 

शब्द 'PRODUCE' में, क्तदए गए शब्द में अ्षररों के क्तकतने यगु्मों के बीच अ्षररों की 

संख्या उतनी ही ह ैक्तजतनी उनके बीच अगें्रजी वर्थमाला श्ररंखला में ह?ै

(a) Four 

(b) Two 

(c) One 

(d) Three 

(e) More than four



Point S is 15m west of point R. Point R is 30m south of point Q. Point P is 

20m west of point Q. Point U is 15m south of point P. Point T is 35 north of 

point S. If Point T is 35 north of point S. Point V is exactly between point Q 

and R, then how far and in which direction is point U with respect to V? 

क्तबंद ुS, क्तबंद ुR के 15मी पक्तिम में ह।ै क्तबंद ुR, क्तबंद ुQ के 30मी दक्त्षरर् में ह।ै क्तबंद ुP, क्तबंदु Q के 

20मी पक्तिम में ह।ै क्तबंद ुU, क्तबंद ुP के 15मी दक्त्षरर् में ह।ैक्तबंद ुT, क्तबंद ुS के 35 उत्तर में ह।ै

क्तबंदु V , क्तबंद ुQ और R के ठीक बीच में ह,ै तो V के सन्दभथ में क्तबंद ुU क्तकतनी दरू और क्तकस 

क्तदशा में ह?ै

(a)15m, North-East (b) 15m, East (c) 10m, North-west 

(d) 20m, West (e) 20m, North-East 



Point S is 15m west of point R. Point R is 30m south of point Q. Point P is 

20m west of point Q. Point U is 15m south of point P. Point T is 35 north of 

point S. 21. If point V is exactly between point Q and R, then how far and in 

which direction is point U with respect to V? 



Seven persons A to G are buying 

different things. Only one person 

buy thing between C and A. B is 

buying thing immediately before C. 

Two persons buy things between C 

and D. C buy things after D. E buys 

thing immediately before D. More 

than three persons buy things 

between E and F. Only three 

persons buy things between D and 

G. 

सात व्यक्ति A से G अलग-अलग चीजें 

खरीद रह ेहैं। C और A के बीच केवल एक 

व्यक्ति खरीदता ह।ै B, C से ठीक पहले 

चीज खरीदता ह।ै C और D के बीच दो 

व्यक्ति चीजें खरीदत ेहैं। C, D के बाद चीजें

खरीदत ेहैं। E, D से ठीक पहले चीज 

खरीदता ह।ै E और F के बीच तीन से 

अक्तिक व्यक्ति चीजें खरीदते हैं। केवल तीन 

व्यक्ति D और G के बीच चीजें खरीदत ेहैं।



Seven persons A to G are buying 

different things. Only one person 

buy thing between C and A. B is 

buying thing immediately before C. 

Two persons buy things between C 

and D. C buy things after D. E buys 

thing immediately before D. More 

than three persons buy things 

between E and F. Only three 

persons buy things between D and 

G. 



Ten persons are sitting in two parallel rows 

containing five persons in each row such a way 

that there is an equal distance between adjacent 

persons. In the first row, A, B, C, D and E are 

seated and all of them are facing north. In the 

second row, P, Q, R, S and T are seated and all 

of them are facing south. Therefore, in the 

given seating arrangement, each member 

seated in a row faces another member of the 

other row. E sits 2nd from one of the extreme 

end of the row. P faces the one who sits 2nd to 

the right of E. D sits 2nd to the left of B, who 

does not sit at the extreme end. Two persons sit 

between S and Q. R sits immediate left of S. C 

sits next to B. 

दस व्यक्ति दो समानांतर पंक्तियों में बैठे हैं क्तजसमें ्रतत्येक 

पंक्ति में पांच व्यक्ति इस ्रतकार बैठे हैं क्तक आसन्न व्यक्तियों 

के बीच समान दरूी ह।ै पहली पंक्ति में, A, B, C, D और 

E बैठे हैं और उन सभी का मखु उत्तर की ओर ह।ै दसूरी 

पंक्ति में, P, Q, R, S और T बैठे हैं और उन सभी का मखु 

दक्त्षरर् की ओर ह।ै इसक्तलए, दी गई बैठने की व्यवस्था में,

एक पंक्ति में बैठे ्रतत्येक सदस्य का मखु दसूरी पंक्ति के

अन्य सदस्य की ओर ह।ै E पंक्ति के क्तकसी एक अंक्ततम छोर 

से दसूरे स्थान पर बैठा ह।ै P उस व्यक्ति की ओर उन्मखु ह ै

जो E के दायें से दसूरे स्थान पर बैठा ह।ै D, B के बायें से 

दसूरे स्थान पर बैठा ह,ै जो अंक्ततम छोर पर नहीं बैठा ह।ै S 

और Q के मध्य दो व्यक्ति बैठे हैं। R, S के ठीक बायें बैठा

ह।ै C, B के बगल में बैठा ह।ै



Ten persons are sitting in two parallel rows 

containing five persons in each row such a way 

that there is an equal distance between adjacent 

persons. In the first row, A, B, C, D and E are 

seated and all of them are facing north. In the 

second row, P, Q, R, S and T are seated and all 

of them are facing south. Therefore, in the 

given seating arrangement, each member 

seated in a row faces another member of the 

other row. E sits 2nd from one of the extreme 

end of the row. P faces the one who sits 2nd to 

the right of E. D sits 2nd to the left of B, who 

does not sit at the extreme end. Two persons sit 

between S and Q. R sits immediate left of S. C 

sits next to B. 



Eight persons are sitting around a 

circular table facing to the center 

but not necessarily in the same 

order. Two persons sit between Q 

and P (either from left or right). R 

sits immediate to the right of Q. 

One person sits between R and S, 

who faces to T. Q and T are not 

immediate neighbors of each other. 

W sits 2nd to the left of V. Three 

persons sit between U and V. 

आठ व्यक्ति एक वरताकार मेज के चारो ओर 

कें द्र की ओर मखु करके बैठे हैं लेक्तकन 

आवश्यक नहीं इसी क्रम में हो। Q और P के 

मध्य दो व्यक्ति बैठे हैं (या तो बाएं या दाएं)। 

R, Q के ठीक दायें बैठा ह।ै R और S के मध्य 

एक व्यक्ति बैठा ह,ै क्तजसका मखु T की ओर 

ह।ै Q और T एक दसूरे के क्तनकटतम पर्ोसी 

नहीं हैं। W, V के बाएं से दसूरे स्थान पर बैठा

ह।ै U और V के बीच तीन व्यक्ति बैठे हैं।



Eight persons are sitting around a 

circular table facing to the center 

but not necessarily in the same 

order. Two persons sit between Q 

and P (either from left or right). R 

sits immediate to the right of Q. 

One person sits between R and S, 

who faces to T. Q and T are not 

immediate neighbors of each other. 

W sits 2nd to the left of V. Three 

persons sit between U and V. 



A certain number of persons are 

sitting in the row. All of them are 

facing towards north. Q sits sixth from 

the right of S. T sits forth to left of Q. 

Only two persons sit between Q and 

P. R sits forth to the left of S. U sits 

between S and T. V sits second to the 

right of U. W is third from any of the 

end. S is eight from the left end of the 

row. Six persons sit between W and 

V. 

पंक्ति में क्तनक्तित संख्या में व्यक्ति बैठे हैं। उन 

सभी का मखु उत्तर की ओर ह।ै Q, S के 

दायें से छठे स्थान पर बैठा ह।ै T, Q के 

बायें बैठा ह।ै Q और P के बीच केवल दो 

व्यक्ति बैठे हैं। R, S के बायें बैठा ह।ै U, S 

और T के बीच बैठा ह।ै V, U के दायें से 

दसूरे स्थान पर बैठा ह।ै W क्तकसी भी छोर 

से तीसरा ह।ै S पंक्ति के बाएं छोर से 

आठवां ह।ै W और V के मध्य छह व्यक्ति 

बैठे हैं।



A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between S 

and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V. 



Eight people P, Q, R, S, T, U, V and W 

are sitting around a square table in such 

a way that four of them sit at four 

corners of the square while four sit in 

the middle of each of the four sides. 

People who are sitting at the corner are 

facing outside the center while people 

sitting in the middle are facing the 

center. R sits second to the right of V. 

Only one person sits between R and W. 

P is not an immediate neighbor of W and 

does not sit at corner. Q faces S who sits 

immediately to the left of U.

आठ व्यनि P, Q, R, S, T, U, V और W एक 

वगााकार मेज के चारों ओर इस प्रकार बैठे हैं नक

चार उिमें से चार वगा के चार कोिों पर बैठते हैं

जबनक चार चारों भुजाओ ंमें से प्रत्येक के मध्य

में बैठते हैं। कोिे पर बैठे िोगों का मुख कें द्र के 

बाहर की ओर है जबनक बीच में बैठे िोगों का 

मुख कें द्र की ओर है. V के दायें से दूसरे स्थाि

पर बैठा है। R और W के बीच केवि एक 

व्यनि बैठा है। P, W का निकटतम पडोसी िहीं 

है और कोिे पर िहीं बैठा है। Q का मुख S की 

ओर है जो U के ठीक बायें बैठा है।



Eight people P, Q, R, S, T, U, V and W 

are sitting around a square table in such 

a way that four of them sit at four 

corners of the square while four sit in 

the middle of each of the four sides. 

People who are sitting at the corner are 

facing outside the center while people 

sitting in the middle are facing the 

center. R sits second to the right of V. 

Only one person sits between R and W. 

P is not an immediate neighbor of W and 

does not sit at corner. Q faces S who sits 

immediately to the left of U.



10 bottles of soft drinks of 10 different 

brands were arranged one above 

another in 10 shelves such that only one 

brand is placed in one shelf. Mirinda

was placed 4 shelves above Frooti. 3 soft 

drinks brands were placed between 

Sprite and Frooti. Pepsi was placed just 

above Limca. 2 bottles were placed 

above Limca. 3 bottles were placed 

between Coca cola and Slice. Slice was 

not adjacent to Sprite. Mountain Dew 

was placed 3 shelves above Coca cola. 

Nimbooz was placed above 7up.

10 अलग-अलग ब्ांर्ों के शीतल पेय की 10 

बोतलें 10 अलमाररयों में एक के ऊपर एक इस 

तरह व्यवक्तस्थत की गई ंक्तक केवल एक ब्ांर् एक 

शेल्फ में रखा गया ह।ै क्तमररंर्ा को फू्रटी के ऊपर 4

अलमाररयां रखी गई थीं। स््रताइट और फू्रटी के 

बीच 3 शीतल पेय ब्ांर् रखे गए थे। पेप्सी को 

क्तलम्का के ठीक ऊपर रखा गया था। क्तलम्का के 

ऊपर 2 बोतलें रखी थीं। कोका कोला और 

स्लाइस के बीच 3 बोतलें रखी गई।ं स्लाइस 

स््रताइट के क्तनकट नहीं था। माउंटेन र््य ूकोका 

कोला के ऊपर 3 अलमाररयां रखी गई थीं। क्तनंबजू 

को 7up से ऊपर रखा गया था।



10 bottles of soft drinks of 10 different 

brands were arranged one above 

another in 10 shelves such that only one 

brand is placed in one shelf. Mirinda

was placed 4 shelves above Frooti. 3 soft 

drinks brands were placed between 

Sprite and Frooti. Pepsi was placed just 

above Limca. 2 bottles were placed 

above Limca. 3 bottles were placed 

between Coca cola and Slice. Slice was 

not adjacent to Sprite. Mountain Dew 

was placed 3 shelves above Coca cola. 

Nimbooz was placed above 7up.



9 boxes are placed in a 3*3 matrix 

formation as there are 3 rows and 3 

columns. All of them are placed 

from bottom to top. Box J is placed 

south of box S, but Northeast of box 

U. Box E is southeast of Box O but 

not Southwest of Box S. Box D is 

North of Box B, but east of box K. 

Box B is placed in one of the rows 

above E. Box L is not west of Box 

E.

3*3 मैक्तट्रक्स फॉमेशन में 9 बॉक्स रखे गए हैं 

क्योंक्तक इसमें 3 रो और 3 कॉलम हैं। उन सभी को 

नीचे से ऊपर तक रखा गया ह।ै बॉक्स J, बॉक्स S 

के दक्त्षरर् में रखा गया ह,ै लेक्तकन बॉक्स U के 

उत्तर-पवूथ में ह।ै बॉक्स E, बॉक्स O के दक्त्षरर्-पवूथ

में ह,ै लेक्तकन बॉक्स S के दक्त्षरर्-पक्तिम में नहीं ह।ै 

बॉक्स D, बॉक्स B के उत्तर में ह,ै लेक्तकन बॉक्स K 

के पवूथ में ह।ै बॉक्स B को इनमें से क्तकसी एक में 

रखा गया ह।ै E के ऊपर की पंक्तियााँ। क्तर्ब्बा L, 

क्तर्ब्बा E के पक्तिम में नहीं ह।ै



9 boxes are placed in a 3*3 matrix 

formation as there are 3 rows and 3 

columns. All of them are placed 

from bottom to top. Box J is placed 

south of box S, but Northeast of box 

U. Box E is southeast of Box O but 

not Southwest of Box S. Box D is 

North of Box B, but east of box K. 

Box B is placed in one of the rows 

above E. Box L is not west of Box 

E.



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.

एक फुटबॉल टीम के बारह सदस्य दो समानांतर पंक्तियों में 

्रतत्येक में छह व्यक्ति इस ्रतकार बैठे हैं क्तक आसन्न व्यक्तियों के 

बीच समान दरूी ह।ै पंक्ति-1 में U, V, W, X, Y और Z बैठे हैं 

और उन सभी का मखु दक्त्षरर् की ओर ह।ै पंक्ति-2 में A, B, C, 

D, E और F बैठे हैं और उन सभी का मखु उत्तर की ओर ह।ै 

इसक्तलए दी गई बैठने की व्यवस्था में एक पंक्ति में बैठे ्रतत्येक 

सदस्य का मखु बाहरी पंक्ति के दसूरे सदस्य की ओर ह।ै X, V 

के दायें से तीसरे स्थान पर बैठा है, या तो X या V पंक्ति के 

अंक्ततम छोर पर बैठा ह।ै वह व्यक्ति क्तजसका मखु V की ओर ह,ै 

E के दायें से दसूरे स्थान पर बैठा ह।ै B और F के मध्य दो व्यक्ति

बैठे हैं। न तो B और न ही F पंक्ति के अंक्ततम छोर पर बैठे हैं। B 

के क्तनकटतम पर्ोसी का मखु उस व्यक्ति की ओर ह ैजो U के 

बायें से तीसरे स्थान पर बैठा ह.ै W और Y एक दसूरे के 

क्तनकटतम पर्ोसी हैं. C, A के बायें से दसूरे स्थान पर बैठा ह।ै Y 

का मखु D के क्तनकटतम पर्ोसी की ओर नहीं है। 



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.


